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浙江省2016年10月普通高校招生选考科目考试数学试题

[image: image9.jpg]Kssu, BBBHISXESR



[image: image2.jpg]e=3y+6>0,
6. A%kl F B X B OB R4 R
r—y+2<0

A B 6. D.
7. A7 T T R T
A 2ESARAHR R —4FE
B i — AR RN ARG — Pl
C. &t — A SR V709 Pl B A — 4
D. &t —Aa B S~ KRR LW FEA LR~
8. BB a b W"a /6" la—b|=|a| —[b|"H

AERRLBR W RO 1
MR DR S LA
9. ¥ () =1—2sin2r &
A R RMERA S B AREELRE RIS S
C. AR ERI D LR ERIY =
10. 8% 28 (o) BT DK S, (nEN"). % a, =8 20, 0 ay=
A2 B4
16 D18
10U = BT O o) L T
g A 1 B
AL —
R e
B %cm’ :z 'iI'
CoZem? £
e
D.2Zen 11 )

12, BB a= (r=2,2) b= (digdee=Cory) oy ER F 0 Lb. W e | B9RMIUE
AzE
s

cz D.J5



[image: image3.jpg]13. W0 i AB KB PO BYRE 2, PA B C R
B L. #% PA=AB=2.AC=BC. W Wi fi PmAC=BK

AN E b
A.% Biofb
4 5
ol DT &
G5 13 RiTH)

vzt o= 2) o= (£) gt e amasis N

AMFRELR A (D20 BAFEIESSEC WY [(O>e)
CMFEELM WA f()<gla) D. 16 EIH o 7 £ (<)

S FooFe WLF BB, | FoFs | kA2

15 MRS — L= 100,10 2,

9005 R ACH R O A8 P 25| F,B| =3 | FuA | WAL £ 875
LR
A,

4 5
P (e D.2

16. MRS fCO R TR 0E X 22 M f () =—a+ 205

1

T S LLEES ¢ EaiF

A8 B3 C8 D.25
17 B3 @ boe il a>b>1 e 1 BRI AR b A LT 0

athe
<b+ <a

cathe
<bFac

18. W8 £ Wk ABCD A= CD=2,AD=BD=3. 4
# E.F.GLH A3 AD . BD. HC. AC }
LET ABLCD ¥ T VW EFGH A
EFGH R #RKHUE

el

ol
e

1
G B,

¢
18 M)

ca D.2



[image: image4.jpg]EEBDS
SURSECR AR AN FE AR5 4
19 BARBK 3 =2pr LHADD W p= A WAHERE_A
20, BB .} 09T 0 THIH S, (nEN). 0= b, +10
21 EAABC i AB=2,AC=3,AB « AC—2. 4 P i 2BP

22, R S () —yFF3+ (€ R SR AAFAE S o (78 S (<00 @ 1)

R A
MEBCR XA 3 DG 31 2
23, CRB 10 S EEAABC AT ALB,C B985 B0 a b.c. BI sin2C=yFosC 3Lt
C HBLs.
RS C ks
D% a=1.0=4. K3l K.

PCWAP - BC

1

R

20, CRBE 10401 F. s WIS+ = 0% i P AR (=),

A SRHBLET A B,

CLYR FioFy f455;

CID#F MK PAPF. . PBHIBEZAN 0.
R om HHTAT BB,

5 24 MR

L CRBE 11 AR /e yzmmeij PE TS

1% a=—3 I 5 H BREC£Co MR R ZRTETD «
CDFEXMFEEN € (0.2 VDA [ Zket ML RITH b HIIREAE.




[image: image5.jpg]—BBECGRAMR ISP FIEI S LA

| 1 2 3 4 5 6 7 8 10
%% | D | B[ C|A[A[B DB T
w5 | 0 [ 1z [ 15 [ 14 [ 15 | 16 [n] 18
BE | A | B | B |D|C | 0|D
SHSECRRER A A BEI Ak 15 A
19.20==1 20121 2,40 = 20t

SREECERAR 3 I AL )
23. (1) i sin2C =43 cosC %,

2sinCeosC=y3 cosC.
155 € BB FRL cosC#0. il

sinC:

e (,‘&‘JKVJ\E%.
(I a= A RUE R E A

8 —2abeos 5

=13
it e i RVIS.




[image: image6.jpg]24 8 (1)Fi (=100, F:(1.0)
CID G S PR AB (9 83 AAFE i M FRHE AT R =0,
G LR AB G BREAER R AB BIBER & Alra3n) Blrzaye).
HEER 07—l 71

£ L ey — Gkt
TR PA oy R,

12k PF, tEEA— 5

e e

=
MEEH
m | kay—(k+m) _
HEP Tt
[Ah S 10

=) v —3m s Fa) — 4k 45 =0, (%)

A HRAD 8 y=k(— DIABB T, R 8015
AR +3)2— 8k -+ 4k —12 =0
ik
it e A2
F3 W3
RA Coogpfbin s i
1620k m=0.
M,
208
WTioeny
20[k__ 201l
1661 "2 /Tok

e BYFTAT BB —2,—1.0.1.2.
25, 8 (1) SN X ] 2 (— o0, 1], MK 21 o).
D% e=0 1 RFR S0 >k HLs

A0 W S Bkt BT IS ST
" e A R RSN 30 0T,
B =a(le=1] =4 ir 23 Wity

[CEPEE T #ACTURANE ST 2N
0<H(DI=h (D)

L]
0hC=2(1—a).
L4

- .
Sra—ar

(i) 24— 1<Ca<<0 B K G (O
D1 2], B
@y =2—2a>L

F41 ke T ) .

1—alt o




[image: image7.jpg]%S

0<h<hD) s
w
0<h(o<2(0—a.
i
1
rSra—a

GiD % 0<a<] B A EECO,

1M A~ L

HE—a 1] Lo 00 e L IR (5 (1 +a . 2] L e
FibL

Ay <max{h(2) ki YH h()#0.
[

hr=2—2.>
Fi bk

—a<h(2)<2—2a H h(2)#0.
55 0a< 20 B 1221 > | = B RS
52t B | 2—2a| < —al FLL A<,
fLiﬁE
£a< Bt lz<W

¥%g“<1 i<k





- 1 -

